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Study on the Mathematics Models Effecting the Cultural Factors

on Corn Yield in Blown Soil
WEI Zi-min, ZHAO Yue, ZHOU Lian-ren
(Northeast A gricultural University, Harbin 150030, China)
Abstract: The relationship on corn yield in blown soil in the west part of Songnen plain with nitrogen, phospho-

rus, potash, zinc and boron fertilizers were studied, and a mathematical model involving the four factors and maize

yield was established by using the orthogonal rotation design. The effects of individual factor and its interactions on

maize yield were determined and the optimum agronomic practices in certain conditions were found by analyzing the

model. The optimum comprehensive practices of high yield in blown soil area were: N :131.04 ~ 148.32 kg/ha ,P,0s:
102.20 ~ 109.00 kg/ha .K,0:101.22 ~ 106.59 kg/ha Zn:92.36 ~ 102.64 g/ha .Bo:85.68 ~ 95.72 ¢/ha.
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-2 16 0.065 0 0.000 0 0.000 54 0.219 68 0.275
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